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Prepare your result file for input into SPSS
Isabelle Darcy

When you use DMDX for your experiment, you get an .azk file, which is a simple text file that
collects all the reaction times and accuracy of your subjects. Normally, you have one big .azk file
for all your subjects. If you tested on several machines (2 or 3 different computers), you will
need to merge the different azk files into one big one. There’s an “app” for it: The UNLOAD-
AZK util that comes with DMDX. And there’s a tutorial for this too: “Step by step use of
UnloadAZK and Analyze tools in DMDX”.

If you tested different groups with different scripts (beginners, native speakers etc.), it is not
necessary to unload these into one AZK, but we will merge these in the Excel file below, for
input into SPSS.

Instructions and utensils:

- you need the final results file(s), .azk files

- you need Microsoft Excel

- (you might need Crimson Editor (highly recommended anyway!) Work on your own
computer where you have this installed)

- you need to master the key strokes of “Ctrl + C” and “Ctrl + V", which are shortcuts
for “copy” and “paste”. These are crucial.

- you need about 3-4 hours, depending on how large your .azk files are.

Step 1: Get the information into Excel . : -

e Take the AZK file (open it with
Crimson, for example) and copy
and paste it into an empty Excel
sheet.

1153

e Select the one column where
everything was pasted and click
“Data/Text to Columns”; Choose
“DELIMITED”

0 Choose “tab” and “space” for
delimiters, and check the box
“count several consecutive Do e s o

(o= o) (o

;

This screen et you set the delniters your dats conkans. You Can see how your best is affected n -
o e ke 1]

o |

delimiters as one”. e (i

Update [Nov. 2012]: If you are doing this several times in the same excel book
(on separate sheets, for example) or if you have previously used the “text-to- puraeces
columns” function, Excel might remember this and do it automatically for you.
This is not a good thing, because it might also change your subject numbers
(e.g. 04-2) into dates (Apr. 2). Which you don’t want of course. To avoid that,
you can close Excel and open it again. Then, select the entire worksheet (Ctrl+a)
and right-click “Cell format”. Choose “Text” and click “ok”. Be aware of this and
verify before you continue.... This does NOT happen if your subject numbers
use underscore (e.g. 04_2)
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e Make sure the “~*“ symbol (minus symbol) is preserved together with the reaction
time when you look at where Excel will split the different columns. This symbol is

REALLY important, because it is how you will figure out the accuracy. (a

that it was a wrong answer)

Convert Text to Columns Wizard - 5tep 3 of 3

means

This screen lets wou select each column and set the Data Farmat,

Colurnn daka Farmak

() Do nat import calumn (skip)

(%) General
‘meneral’ converts numeric values to numbers, date values to
O Text dates, and all remaining walues to bext,

Destination: | $a41 e
Data preview
Conoral
NL3:E7:EE pon IUTHIE, fpefresh [16.&éms| ™
w
»
[ Zancel ] [ < Back

\

Convert Text to Columns Wizard - !

This screen lets vou select each column and

Here, we see that the column 1 preserves the item
number, and in column 2, the minus symbol is together

Colurmn daka Forrnat with the RT
() General
‘aeneral’ converts numeric values ko numbers, date walues ko
O Text dates, and all remaining walues ko text,
Osos w01

) Do nat impart column ¢skip)

Destination: | $a$1 25

Daka preview

Here, we see that the ID code is
clean in one column and not split
over 2 columns. This is very
important. Make sure (through
scrolling down) that your ID
numbers are correctly preserved.

CenCeneral Coneral LeperlCepersl Lepersl]l GCeperal GenerGﬁa
L1l 03,2010 123:57: 22 pn FPUTNIE, pefresh |16 &&ns, D ool ~
BT

i)

E0

i b

4 >

[ Cancel ] ’ < Back ]

Here, click finish and verify again that the column split is preserving 1) entire item numbers, 2)
minus symbol together with RT and complete RT numbers, and 3) the ID number is not split.
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_'a\ H39- B Bookl - Microsoft Excel - 8 Xx
&. Home Insert Page Layout Formulas Data Review View Acrobat 'Q) - =2 X
.1 || Connedtions = i Clea = E4 = | =f| Data Validation = | 3 Group ~ 4= || o Data Analysis
By E 2 84 212 [ == = 2
Properties U Reapply === _EEI Consolidate <A Ungroup = = ?_3 Solver
Get External || Refresh il Sort Filter . Tedtto Remove . . o
Data~ All- =2 Edit Links 7 Advanced || Columns Duplicates &P What-If Analysis = éu Subtotal
Connections Sort & Filter Data Tools Outline F} Analysis
£3s - fe |
A B C D E F G H I i) K L M N o
28
29
) P o . .
23 Subject i RMT 13:39:42 on SPUTNIK, refresh  16.66ms, 1D 3 Here is an OUtpUt after the
; em
32 210501 -222.35 text to columns function was
23| 210802 526.12 used. We see that
34 120808, -306.18
a5 12059_ 1) the item is preserved in its
36 111804 252.89 own Column,
37 110803  395.66
“w oo H H H
B8 271505 21092 — t 2) the “-“ sign is with its RT
39| 220505 487.36 3) the RT is complete
40
41
42 |Subject 4, BEEEEEEE 14:00:29 on SPUTNIK, refres
43 ltem AT — | L
| 10507 2184 4) the ID is in its own
45| 120808 28473 column. here, it lost its 00.
46 220505  -306.15 ’ .
27| 221506 48136 But that’s not a big deal.
48 111804 312.76
43| 110803 -376.82
50| 210802 -254.93
51 210501 -213.82
52
M4 4 » M| Sheetl | Sheet? ~Sheet3 ~¥J [ m
Ready | ElEESTENO==== el

Potential Problem: The “text-to-column” function using the characters such as space or tabs as
delimiters sometimes yields a messy output. It is also a possibility to select “Fixed Width”
instead of “Delimited”, and to click in the window (see below) to put the boundaries yourself.
This is a bit more tricky and you need to scroll down in that mini window to verify that you don’t

separate the

and the RT, and that you delimit a column that does not split the ID number at

the end of the ID-information lines. But is is possible to do. Be especially careful if you have
training item numbers that are shorter than the test item numbers, for instance. This can be
difficult to set one boundary that won’t cut any Item number AND preserve the “-“ with the RT.

Convert Text to Columns Wizard - Step 2 of 3 @g| Conwvert Text to Columns Wizard - Step 2 of 3

This screen lets vou set field widths (column breaks),
Lines with arrows signify a column break.

T CREATE a break line, click at the desired position
T DELETE a break line, double click on the line.
To MOYE a break line, click and drag it

That’s the “default”
suggestion of column
boundaries that you
get. You need to scroll
down to verify their

This screen lets you set field widths {column breaks),

Lines with arrows signify a column break.

Ta CREATE a break line, click at the desired position.
To DELETE a break line, double click on the line.
To MOYE a break line, click and drag it.

Here, after scrolling
down a bit, we see
that the columns
separate nicely the RT
from the item nb. and

adequacy. also the ID number.
Drata preview Data preview
10 z0 30 40 50 60 10 20 30 40 50 &0
1 1 1 1 1 1 1 1
e’ ject| 4, 1170372010 14:06:29) on| SPUTNIE,| refresh| 16. 66ns,| ID 004|%
ubjectls incorporated to date:| 00g Item nT
ata fifle started on machine SPUTHIE o507 —-EZ12.324
0g03 23473 *
e rrrr e v 0505 | -206.15 .
< > < b3
Cancel ] [ < Back ] [foMext = [ Finish Cancel ] [ < Barck ] ek s [ Finish ]
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Note: Regarding the preservation of the “00” in the ID number: Excel gets rid of the 00 before a
number if the cell is formatted as number (because 001 is the same as 1). If you create a
boundary before the “ID”, then the cell will be formatted as text and the 00 will be preserved.
While it is not very important usually, it might be in some cases. You can see that this is what |
did in the second picture above on the right (see the *).

Once this first step is done correctly, you can proceed to the following:

e First column: Select the whole column, and right-click on it. Select “Format Cells”,
and choose “number” with 0 places after the decimal. This will preserve the item
number, and we will need it later.

e The lines where there is text (like the subjects ID codes, or any display errors) will
look a bit scrambled, but don’t worry about it for now.

Before reordering anything, we need to make sure each trial is associated with a given learner.
DMDX can’t report the subjects’ ID for each trial: instead, this is saved in the first line of the
whole trials for that person.

So we will have to make sure each trial gets the participants’ ID code.

A couple of key-strokes can greatly speed up the process. The following screen shots
demonstrate how that works:

1. Select the ID code (e.g. 015_1) by highlighting the cell (click on the cell only once, not twice).
3 13 7
2. Now copy the cell with “Ctrl + C
1] H H 7
3. The cell starts “blinking
- T — ===
(D) = 7 - ) - W rawindivdata.xsx - Microsoft Excel o ) ]|
_a/ Home Insert Page Layout Formulas Data Review View Acrobat @ - 2 x
= == = - — ' e ) .
ii:;y Calibri Sl -A K[ = =] | SiwapTtet General - Ejg' f;d (= _DJ j’::ltjsum ‘Z‘? Ea
" v (B2 8L A [55 S[0E Bueweacone 8 o[[48) gnsont m gn e ooweromt 00 e prak
Clipboard F] Font F] Alignment iF} Number {1} Styles Cells Editing
K19510 - 5| ¥
A 8 c D £ F G H ] 1 K L M N 0 P Q R sg
19509
19510/subject 64, 4/19/2011  16:32:26 on BL-CITO-Hrefresh  16.66ms, 1D o151 [ 1
19511 Item RT
19512 5946  1204.77
19513 8915 -1027.28
19514 5902  1001.24
18515 8307 927.72
19516 8308 969.58
15517 5905 769.04 Select that cell
19518 8958 929.22
19513 8914 -746.38
19520 5947 906.89
19521 8957  -725.39
19522 5903 663.13
19523 8913 -666.91
19524 8959  -686.05 -
19525 5906 -897.06
13526 5904 715.57
19527 5948 733.35
19528 100032074 728.96
19523) 857112101 -1161.16
19530| 100032107 -1022.81
19531 158122216 -1060.42
19532 852222122 -1058.67
19533/ 851212006 1044.17 |
19534 853212066 -945.03 v
M 4 » M| Sheetl ~Sheet? - Sheetd ~#J [ I I o |
Select destination and press ENTER or choose Paste [ O ] 00%,(=) ) (s
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4. Now, select the entire group of cells you want to copy that into. The point is to make sure that this
code will be copied in the same column, on the same line as each single trial for that one person.
If you have 260 trials in your script, this will mean copy this cell 260 times until you reach the
data for the next subject.

a. First screenshot: Ctrl + Shift + down-arrow: This will extend the selection all the way to
the next filled cell. That can be one of the words “item”, or anything else that was written
in the AZK file, e.g. by a display error.

b. Press down-arrow again to go past it (but keep Ctrl + Shift pressed the whole time).

Until you reach the next ID number. This can mean pressing down-arrow again a few
times or just one time, depending on how many display errors there were for any given
subject.

c. Second screenshot: Here, we reach 16 1.

rﬁ;MNmm— 1
> o Pagelayout  Formulas  Data  Review  View  Acrobat @ - = x
_uj ii:;y Calibri i -A x| B =@ | SwepTen General - ij}l ﬁ;‘ﬁ ,’—;‘ﬂ" E‘:ﬂ % E_] %:‘I’r‘:s“m ' ‘%? l;a
Paste F Format painter ||| B L T 7||E -l - A== £=| E{MergemCenter~ || § - % o ||%8 5%/ FC:r’r‘n“a‘gﬁ_"g'_ a:ﬁ;’gf:v st;i'lv Insert Delete Format || - @ or - éi?t’:rsj g';“:ﬁ

Clipboard o Font o Alignment o Mumber = Styles Cells Editing
119510 - fe 0151
A B c D E F G H 1 J K L M N o P Q R s

15733 155211022 867.82

19734 100031007 1029.32

15735 100031037 782.13

19736 156121166 -813.65

19737 853211064 -828.61

19738/ 100031005 -810.83

15733 156221130 863.63

19740 154221181 B17.18 Here, | had a display error, so the

15741 800031120 767.42 H ITH ”

o2 100051097 6306 next filled cell was “item”. _I need

19743 151111023 -849.78 to get to the end of that subject’s

LI 00031054 1167.58 trials, so | need to go past it.

19745 158221190 1384.95

15746 157211074 725.15

19747 151111029  810.66

15748 153111093 666.18

19749 100031035 -1518.31

19750 857211081 -1510.61

19751 100031001  -2500

19752! Display error at msec 848895.36, tick 503946 in item 300031087 frame +

19753|! moved into video memory 1 tick late

19754|! (previous frame's  duration will have been longer)

15755 800031087 947.09

19756 800031022 1167.34

19757 152121153  1616.12

15758 800031117 -2500

M 4 b M| Sheetl  Sheet? . Sheet3 %] E! m [1]

Select destination and press ENTER or choose Paste count: 2 |0 Eja00su(=)=——0 (s

S = e — e ————— —
w =& » ) nbox - Outlo... | [ Results % Skype™ - ugb... | B Participants_.. B} rawindivdats... | & CrimsonEdit. || @ Documentl-.. | DE < WM¥T WEA 1153aM
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itaxdsx - Microsoft Excel
Sl o e e e @ -~ x
;‘ ii:;y Calibri -l -||A A= :||W/';‘ S Wrap Text General - ij‘ ﬂ _L;l'ﬂ“ g‘- ?‘ E\ j:‘:ltfsumv ﬂ Eﬁ
T S romat rinter B4 WS A (2 B werge  cemter - |18 % o Ll ]| e~ s~ | o e || 2k e o
Clipboard & Font & Alignment & Number £ Styles Cells Editing
119510 -2 fe] 0151 ¥
A B c D E F G H 1 ] K L M N o P Q R S
19805 ! Display  error at msec 984168.53, tick 59065 in item 857211075 frame +
19806 ! moved into video memaory 1 tick late
19807 ! (previous frame's  duration will have been longer)
19808 857211075 504.54
19809 800031019  -747.72
19810 853111088 -2500
19811 800031055 -724.28
19812 856121167 -896.42
19813 800031023  -928.03
19814 800031056 748.)
19815 154221177 -s38] Here, that’s the end of that
15816 10051028 1013 gpject’s trials (for 015_1), and
19817 300031024 7014 oty . . —
15318 w00m0ss 555 1S the beginning of the next
1ss15 157111110 1396 - subject’s trials. So here is where |
19820 857211079 51 .
1551 1=sm1ss ss7| N€ed to stop, and go back 2 lines
19822 154121209 921,
19823 100031098 -2500
19824 158121214  -801.3
19825
19826
19827 Subject 65, 4/20/2011 10:58:18 on BL-CITO-H refresh  16.66ms, ID 016 1
19828 Item RT
19829 8914 -1527.21
19830 5904 -2185.26
W 4 » M| Sheetl Sheet? “Sheet3 ¥ o | m [
Ready Count: 5 |[EIOIE = ) o

e — e ——
S Skype™ - ugb... | ' Participants ...

Bl rawindivdata....

T | B —
@ Crimson Edit... T Documentl - ...

<BES HEG nsiam

5. Now, to go back a few lines, unpress Ctrl while keeping Shift down (that’s a bit like
piano). So only lift up your finger from the Ctrl key, keeping the other on Shift down,
and hit the arrow-up key twice.

< Home | Insert Page Layout  Formulas Data Review  View Acrobat @ - = x
;‘ ii:;y Calibri 11 SWrap Text General - iji' ﬂ _L;l‘g‘ E‘- ?‘ E\ g:l:ltfsum y ﬂ [ﬁ
P Fomat panter S erge v center - |11 [ || 00N e s T U T Gk fmer: Seas
Clipboard ] Font ] Alignment ] Number ] Styles Cells Editing
119510 - fe] 0151 ¥
A B e D E F G H 1 J K L M N (o] P Q R L
19805 ! Display  error at msec 984168.53, tick 59065 in item 857211075 frame +
19806 ! moved  into video memary 1 tick late
19807 ! (previous frame's  duration will have been longer)
19808 857211075 504.54
19809 800031019  -747.72
19810 853111088 -2500
19811 800031055 -724.28
19812 856121167 -896.42
19813 800031023  -928.03
19814 800031056 748.87
19815 154221177 -838.48
19816 100031038 1015.32
19817 300031024 701.64
19818 100031069 955.19
19815 157111110 1396.73
19820 857211079 510.4
19821 158221186 -957.25
19822 154121209 921.49
19823 100031098 -2500
19824 158121214 -801.3
19825
19826
19827 Subject 65, 4/20/2011 10:58:18 on BL-CITO-Hrefresh  16.66ms, 1D 016 1
19828 Item RT
19829 8914 -1527.21
19830 5304 -2185.26
W 4 » M| Sheetl Sheet? “Sheet3 ¥ [ I [
Ready Count:4 |[EHIOIE = ) o

%S Skype™ - ugb... | ' Paricipants ...

Bl rawindivdata....

— 0 ————————
& Crimson Edit... T Documentl - ...

<BES HE nssam
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6. And now, while the selection is still highlighted, lift your hand, and press Ctrl + V to
copy what you had copied into all these selected cells.
7. All the cells are now filled with the 015 _1 ID code.

= — T W~
‘,E,’\\ FIGE ) e e eSS
= Page Layout  Formulas Data Review  View  Acrobat @ - = x
‘= ii:;y Calibri -l -|fas &l S wrap Text General - E iﬁj& I:;:ﬂ" j‘I' jf\ ;J ;:‘:Injsum - ‘%? lﬁ
Faste F Format painter ||| B L T <||E |- A-|||E = 5| iFE iE| HMergemcCenter~ ||| § - %+ || 5% ;::::g%ﬁl_ EEF%VEIE:' stjeellv Insert Delete Format 22 Qear - éi?tretraf SFIE:'::&
Clipboard ] Font ] Alignment ] Number = Styles Cells Editing
119827 - fe| 0161 ¥
A B c D E F G H 1 J K L M N o P Q R S
19203 100031008 565.17 015 1
19804 800031082 -2500 015_1
19805/! Display error at msec 984168.53, tick 59065 in 015 1 85721107= frame +
19806 ! moved into video memory 1 tick late 015_1
19807 ! (previous frame's  duration will have been longer) 0151
19808 857211075 504.54 015_1
19809 800031019 -747.72 015 1
19810 853111088 -2500 015_1
19811 800031055 -724.28 015 1
19812 856121167 -896.42 015_1
19813 800031023 -928.03 015 1
19814 800031056 748.87 0151
19815 154221177 -838.48 015_1
19816 100031038 1015.32 015 1
19817 800031024  701.64 015_1
19818 100031069 955.19 015 1
19819 157111110 1396.73 015_1
19820 857211079 510.4 015 1
19821 158221186 -957.25 015_1
19822 154121209 921.49 015 1
19823 100031098 -2500 015_1
19824 158121214 -801.3 015 1
19825 015_1
19826
19827 Subject 65, 4/20/2011 10:58:18 on BL-CITO-H refresh  16.66ms, ID IDIG 1 .I
19828 Item RT
M 4 b M Sheetl - Shest? -~ Sheetd %] [ m ]
Select destination and press ENTER or choose Paste [EEErT e (+) -:)

— — — — : e T
" o & [& ) Inbox-Outlo.. E Results ® Skype™ uab.. || G Participants.. ) rawindivdats... | & Crimson Edt... B Dorumentl | DE < B ¥ % HEW0 1158AM

8. Once you have copied, your cursor will go back to the first line (so where you started
with 015_1). That’s annoying, because you need to quickly move down to the next cell
016_1.

a. To do that: hit Ctrl + down-arrow (without Shift, which is to select). The cursor
will jump to the last cell filled, which is just 2 cells above the one you need to be,
the 16_1. So now you just need to go down 2 cells.

9. Now, do steps 1-8 again with the next one, until you are done with all subjects. This
is really important to do without mistakes. Keep your concentration. If you mess up
the subjects, your results will be wrong.

Now, you will start “tuning up” the file, so that you can input it into
SPSS.
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y Home Insert Page Layout Formulas Data Review View Acrobat @ - = x
S0 ="N B B =y [3] Connedtions | | ? & Clear E‘E E e %‘ w qr : i Data Analysis
E=} _3 SERNST =T @ §p‘mjé|ﬂeg i G Reapply == t}f‘- ? s 4 2 ?:smver

From From From FromOther = Existing | Refresh L Z| sort | Fiter Tetto Remove  Data  Consolidste Whatdf || Group Ungroup Subtotal

Access Web Text SourcesT | Connections All- =2 Edit Links & Advanced || Columns Duplicates Validation = Analysis ~ - -

Get External Data Connections Sort & Filter Data Tools Outline = Analysis
A2 - Q@ Jfe | subjects v
A B C D E F G H 1 J K L M N o P Q R S

2 |Subjects incorporalto date: 101

3 |Data file started  on machine BL-CITO-3NQ2MG1

4

3

6 [Subject 1, 4/18/2011 11:01:40 on BL-CITO-3Irefresh  16.66ms, 1D 001_1

7 Item RT 001 1

8 8958  1688.11 001_1

9 5946  1154.87 001 1
10 8907 -1779.59 0011
11 8959  -1834.9 001_1
12 5903 -1680.37 0011
13 8914  1835.77 001_1
14 5905  1089.27 001 1
15 5902 11385 001_1
16 5947  1203.76 001 1
17 8957  1266.35 0011
18 5906 -1214.34 001_1
19 5904 1340.3 0011
20 8913 -1045.55 001_1
21 5948  -1466.8 001 1
22 8915 -2014.81 0011
23 8308  1245.06 001_1
24 (854222178  1233.83 0011
25 |857112109 -1587.45 001_1
26 (100032079  1470.33 001 1
27 |855212017  1114.52 001_1
W 4 » M| Sheetl Sheet? “Sheet3 ,¥J [ L I
Ready Average: 225317199 Count 94302 Sum: 13902747102019 |[E5 O T 1003 (=) 0] &

P e, e e I e e T
%5 Skype™ - ugb... | Ej Paticipants ... Bl rawindivdata... | & Crmson Edit.. | Preparefilesf.. = DE < W%y LY A 1213PM

That‘s how your file now looks like.

Here: Sort everything according to column A (the item numbers) AND Column J (The ID
numbers).

9 s Microror e (= E i
& Home Insert Page Layout Formulas Data Review View Acrobat @ - = x
sy sy 5 B = (@) Connections - & Clear i > @: ‘>VI ¢VI r. = i Data Analysis
o *3 —J L —J @ ?theme: & [2]2] ? $ Reapply EE Ig] H‘ﬁ- ? IﬂL ‘{ ﬁ =3 ?:50'"'
From from From From Other | Ewsting | Refresn A s | G g || i Bene  GEn slie G2d0 || Emp Wge e s
Access Web Text Sources~ | Connections | Al c Columns Duplicates Validation Analysis
Get External Data Connections Sort & Fiter Data Tools Outline ) Analysis
Az -0 = | 100031001 ¥
A B 5 D E F G H [} J K L M N (o] P Q R S m
7 |100031001  691.89 005_1
8 |100031001  887.31 006_1
3 |100031001 827.1 007_1
10 |100031001  623.52 008 1
11100031001  683.58 009 1
12 (100031001 1462.84 010_1
13 100031001  750.68 011 1
14 (100031001  1300.45 012_1
15 100031001 789.59 013_1
16 |100031001  862.56 014 1
17 | 100031001 -2500 015_1
18 (100031001 1098.18 016_1
19 100031001  937.55 017 1
20 100031001 762.76 018_1
21 (100031001 665.56 019_1
22 100031001  760.29 020 1
23 100031001 796 021_1
24 100031001 654.27 022_1
25100031001  749.84 023 1
26 (100031001  1252.36 024 1
27 (100031001 887.45 025_1
28 100031001  916.54 026 1
23 1100031001 660.95 027_1
30 | 100031001 889.59 028_1
31100031001 1708.42 029 1
32 100031001 731.39 030_1
W 4+ M| Sheetl ~Sheet? - Sheet3 ~¢J [l m ]
Ready Average: 225317199 Count: 94802 Sum: 13902747102019 | [EE5/[) (] D +

[ el = s — o e el e
%8 Skype™ - ugb.. | 'gj Participants_ j rawindivdata... | & Crimson Edit. T Prepare files DE < W% W 1214 PM
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2 dome msen Pagelayout  Formulas Data Review  View  Acrobat @ - = x
b] Connections i Clear = = ®rE @ o 5 Data Analysis
—é —5 —} —FJ —D @ I_‘f Properties & i ? & Reapply E‘E Ig] EE‘E @? ﬂL ‘{ ﬁE E ?isolver ’
From From  From FromOther = Edisting | Reftesh —  © Z| sort | Filter {‘}Ad“n“d Tedto Remove  Dsta  Consolidate Whatf | Group Ungroup Subtotal
Access Web  Tet Sources~ | Conmections | All L Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Qutline ] Analysis
123087 - £ ¥
A B C D E F G H | J K L M N o P (o] R £
29074 858222189  1546.81 087_1
29075 858222189  1643.03 088_1
29076 858222189  1306.02 089_1
25077 858222189  1947.05 090_1
29078 858222189  1563.18 091 1
25079 858222189  1840.66 092_1
29080 858222189 1494.73 093_1
25081 858222189  2213.26 094_1
29082 858222189  1147.39 095_1
25083 858222189  1196.05 096_1
29084 858222189 -1553.17 097_1
25085 858222189 11814 098 1
29086 858222189 -1698.61 099_1
29087 858222189  1594.63 I .IIDCLI
29088 858222189  2321.37 101_1
29089 858222189 1654.23 102_1
25090(! Display error at msec 648836.15, tick 38939 in 002_1 158121224,
29091|! moved into video memory 2 ticks late 002_1
29092|! (previous frame's  duration will have been longer) 002_1
29093! Display error at msec 318528.60, tick. 19114 in 003_1 858122213,
290941 moved into video memory 1 tick late 003_1
29095/ (previous frame's  duration will have been longer) 003_1
250961 Display  error at msec 332406.55, tick 19947 in 003_1 155212024,
29097|! moved into video memory 1 tick late 003_1
29098|! (previous frame's  duration will have been longer) 003_1
29099)! Display  error at msec 686592.97, tick 41205 in 003_1 155211018,
W 4 b M| Sheatl ,“Sheet? ,“Sheetd ¥ [N I I
Ready EE] = U +

A T p e — e PR . =
Y > &) mbox - Outlo... | g Results %S Skype™-ugb.. | Hj Participants_... ) rawindivdata ® Crimson Edit.. || T Preparefilesf.. | DE < @ % v VIR 1216PM

Now start to tune-up your raw data file: “clean out” all lines of the file that you won’t use for
analysis, that is all the display errors, the lines of subject ID, etc. | usually don’t DELETE that
information, | save it on separate tabs.

Here you can see at the bottom that | have put on separate tabs all the information | had*

y indivdata.xsx - Microsoft Excel
Home Insert Page Layout Formulas Data Review View Acrobat ® - = x
L L L, L 5 - [E) connedions | 1]7' & Clear = E = B N @ ¢rl ;rl FD #= | FL Data Analysis
= & = =] A - = [+ A ) =]
H-RE" BEE T =T 2l A Properties 2 [2]2] R S ¥ i) % g 5 24 Solver
From From From From Other Existing Refresh %l Sort Filter Y Text to Remove Data Consolidate What-If Group Ungroup Subtotal
Access Web Text Sources~ | Connections | Allw =2 Edit Links 7 Advanced || Columns Duplicates Validation ~ Analysis ~ - -
Get External Data Connedions Sort & Filter Data Tools Outline ] Analysis
G5 -( £ ¥
A B c D E F G H 1 J K L M N o P Q R s m
1 ltem RT Error SujiD
2 100031001  856.29 "001"
3 100031001  892.14 001 1
4 [100031001  907.49 002_1
5 |100031001  776.82 0031 | _|
6 100031001  767.63 004_1
7 /100031001  691.89 005_1
8 100031001  887.31 006_1
9 | 100031001 827.1 007_1 0003100
10100031001  623.52 008_1 221 31001 760.23 020—1
I woovion:,_ka.58 o001 23 | 100031001 796 0211
12100031001 1462.84 0101 —
13 100031001 75068 o111 24 100031001  654.27 022_1
14100031001  1300.45 012 1 -
15| 100031001 789.59 o131 25 100031001  749.84 023 1
16| 100031001  862.56 014 1 =
17100031001 -2500 015_1 20 | 10003 TF5.2.50 024 1 \l
18 | 100031001 1098.18 016_1 = —= z |
19100031001 537 55 71 H 4P RawAZK data - sujID and number training Display Errors
20100031001  762.76 018 1 Read e
21/100031001  665.56 019_1 v /
22100031001  760.29 020_1
23 | 100031001 796 021 1 5 ) Inbox - Outl " R It S —
24100031001  654.27 022_1 NDoX - UUTio... ESUITE k}fpe -uq
25|100031001  749.84 023
26100031001 1252.36 024_1
H 4 b M| RawAZK data .~ sujID and number training Display Errors 2 m m
Ready uﬁ =]
- e e e e — =
?; Ry # 8) nbox - Outlo... | i Results %S Skype™ - ugb... | Elf Paricipants_.. ) awindivdata... | & Crimson Eoi... T Preparefilest.. = DE <« ¥ T WG 1221pMm

' The “001” subject number is just another regular subject number that | used for the debug
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Copy all the subject info on one, the training items on another, and if you have display errors, also copy
these in a separate tab. Your “rawAZKdata” tab should only contain the items from the main test (without
the familiarization or training items).

Now, we will start filling in all the different columns we need for the stats analysis. The first one is to
code “ERROR RATE”. Create a column, with a header called “Error” next to the RT column
For the Error, copy the RT column next to itself, and we will use “copy and replace” to “clean it up”

e -
-'fb:!\\ (= R W = - rawindivdataxsx - M
i y Home Insert Page Layout Formulas Data Review View Acrobat
5y L ) 5} & |_g'3] Connections 5 | Z \Y i Clear =
- 3 (<] Zi 4 —
—[!;" —e = S S ‘g 37" Properties £lo S Reapply =
From From From From Other Existing Refresh o %¢ Sort Filter Y Te
Access Web  Text Sources | Connections | All- = Edit Links A7 Advanced || g
Get External Data Connections Sort & Filter
2 - f= | 856.29
A B & D E F G H I J
1 |item RT Error SujiD
| I a0t
2 | 100031001 856.29 856.25. 001
3 | 100031001 892.14 892.14 0011
4 | 100031001 307.49 907.49 002_1
5 | 100031001 776.82 776.82 003 1
6 | 100031001 767.69 767.69 004 1
7 | 100031001 691.89 691.89 005 1
o | annnninna 007 21 007 91 nnc_ 1

Right now, error is a copy of RT.

Remember that an error is always coded with a “-* in front of the RT. So to code errors out of the RT
should be straightforward. We can replace all the negative RT with “0” and all the others with “1”

‘.’Q;\ T C o TSRS e S =T o
A Pagelayout  Formulas | Data | Review  View  Acrobat @ - = x
L, 5 5| Ly 5 ~ (3] Connedtions || 5 - & Clear = = LB E '?”'I w""l ID #< | #4Data Analysis

e e = BT @ ﬁpmpaue: &l E 1]7' T, Reapply E @ 'J:‘ ? ﬁL { j =z ?:Snlver

From - From From From Other | Gisting | Refresn — %) Sort | Filter e | SR FEER Fnn  mmienn Gmsl || G ungm s

Access Web Text Sources~ | Connections | All Columns Duplicates Validation Analysis

Get External Data Connetions Sort & Filter Data Tools Outline = Analysis
c1 - S | Error ¥
A B c D E F G H 1 J K L M N o e Q R 5 m

1 ltem RT Error SujlD

2 100031001 856.29 856.29 "oo1"

3 100031001 892.14] 892.14 0011

4 | 100031001 907.49 907.49 002_1

5 | 100031001 776.82 776.82 003 1

6 100031001 767.69 767.69 0041 .

7 (100031001  691.89]  691.89) 00§ Find and Replace =

8 100031001 887.31] 887.31 006

Find Replace

9 | 100031001 827.1) 827.1 00,

10 | 100031001 623.52 623.52 008 Find what: El

11/100031001  683.58|  683.58 00§ | | Replace with: |of =]

12 100031001 1462.84] 1462.84] 01

13100031001  750.68|  750.68 01

14 100031001  1300.45] 1300.45] 013

15 100031001  789.55|  789.59 o1d| [ Replocedt | [ gedece | [ Fpoml | [Enanext | [ cose |

16 | 100031001 862.50 862.56] 014m

17 | 100031001 -2500] -2500] 015_1

18 100031001 1098.183] 1098.18] 016_1

13 | 100031001 937.55 937.55] 017_1

20100031001  762.76]  762.7§ 018 1

21100031001 665.506| 665.50| 019 1

22100031001  760.29]  760.29) 020 1

23 | 100031001 796 796 0211

24|100031001  654.27| 654.27 022_1

25 | 100031001 749.284 749.234 023 1 '
26100031001 1252.36] 1252.3f 024 1

W 4 b M| RawAZK data .~ sujID and number training Display Errors 2 m | P
Ready Average: 268.0510262 Count: 29089  Sum: 7797065.25 uﬁlﬁl 100% (-, ] +; )

Ry » &) Inbox - Outlo.., % Skype™ - ugb.. || G Participants_.. | G rawindwdata... | & CrmsonEdt.. | @ Preparefiest.. | DE < M® T, WIE O 1225pM

One possibility to recode the RT into an error rate is to do a search looking for the “~** symbol and replace
the whole cell with “0”. HOWEVER, This won’t work, because excel will only look for the specific —
sign, and replace only that sign with 0, so that it won’t even show (-2500 will turn into 02500, and
therefore into 2500)... Exactly what we don’t want.

& Results

L
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;,l:!st FE =D ™ TSRS SR EHIE I
iy Home  Insert Page Layout  Formulas Data Review  View Acrobat ® - = x
*  |Ii] Connections ¥ Clear = > ®IE @r o #= || F Data Analysis
NI e S I L
From From From From chver Existing Refrevsh T %l Sort Filter fjAdvan:ed Text to Remove Data . Consalidate WI’|EY:—Ifv Grt:up Llngvmup Subtotal
Access Web Text Sources Connections All Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Outline E} Analysis
-0 fe | Error ¥
A B c D E F G H 1 ) K L M N 0 [ a R s m
1 ltem RT Error SujiD T% E)
2 |100031001  856.28]  856.29) "go1" I e ariacs s
3 [100031001  892.14] 89214 001_1 rrd | Regocs
4 |100021001  907.43| 907.49) 002_1
5 100031001  776.82]  776.82 003_1 Fodwhat: |~ [=]
6 100021001 767.69]  767.69] 004 1 Replace with: |0 [=]
7 |100031001  691.88| 69189 005_1 e [sheet [] vt gase
s (100031001 88731 8873 006_1 7] Match entie cel contents |
9 100031001 8271  827.1 007_1 Search: [ByRows [=]
10100031001  622.52]  622.52 008_1 Lookin: |Formuas [ =]
11|100031001  683.58|  683.58) 009_1
12100031001 1462.84| 1462.84) 010_1 [(Repacear | [ eplace | [ Frmdal | [ Endhext | [ cose |
13| 100031001 750.68]  750.68) 011_1
14100031001 1300.45| 1300.45 012 1 ; ; - -
Microsoft Office Excel
15 100031001 789.59|  789.59) 013_1
16 100031001  852.56] 862.56) 014_1 PN
17 | 100031001 _2500| of 015 1 |o‘ Excel has completed its search and has made 10845 replacements.
18| 100031001  1098.18| 1098.18) 016_1
19100021001  937.55| 937.55 0171
20| 100031001 752.76|  752.7§] 018_1
21/100021001  665.56|  665.56] 019 1
22| 100031001 750.29]  750.29) 020_1
23 | 100021001 796} 796} 021 1
24| 100031001 654.27]  654.27] 022_1
25 100021001  749.34]  749.34) 0231
26| 100031001  1252.36] 1252.3§] 024_1
W 4 » M| RawAZK data - sujlD and number training Display Errors 2 m I |
Ready Average: 268.0510262  Count: 29089 Sum: 7797068.25 | [E5 /0] 1 = ) o

You have to search for “-*” (minus star). This works, because we look for “- followed by anything” ,
anything being represented by the *. Then, clicking the box “match entire cell content” will replace the
whole cell with a0, and you see, the -2500 has been replaced by a 0.

Now the trick question: how do we replace the other numbers with 1?

well, we could go step by step, asking it to look for certain numbers, such as “1”, or “6” and then continue
until there’s nothing left but 1s. Or.... we can try to use the dot, which is for most RTs the case.

If we put the dot between two ** (*.*) , it works.
A few RTs were “round”, so they didn’t have a dot. We can either replace those now by going with a
couple numbers (they probably share some numbers),
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= S ————— e
?D_f\ o C o " TSRS SR [ = e
L - =

Home  Insert  Pagelayout  Formulas | Data | Review  View  Acrobat @ - = x

Ly Y 5] L, N “» [ connedtions || E 1]7' & Clear == =] B > %— r”I ‘;"'I ’D #2 || #Data Analysis
- o ] & (] =l
o e —] LU =Ly @ f Properties AER & Reapply E =2 J‘; ? L { 2 “Z || % sower
From From From From Other | Existing  Refresh Z) sot | Fiter Textto Remove  Data  Consolidste Whatlf || Group Ungroup Subtotal
Access Web Text Sources~ | Connections =~ All~ == Editlinks i Advanced || Columns Duplicates Validation = Analysis ~ - ~
Get External Data Connections Sort & Filter Data Toals Outline = Analysis
-0 fe | Error ¥

A B c D E E G H 1 1 K L M N o e a R 5 m
1 ltem RT Error SujlD
2 100031001  856.29 1 001" Find and Replace 2] = |
3 100031001  892.14) 1 001_1
4100031001 907.49 1 002_1 Find | Replace
5 100031001  776.82f 1| 003_1 Fndwhatt = =l
6 100031001  767.69 1 004 1

EREE || [y g
7 100031001  691.89 1 005_1
2 100031001  287.31 1 006_1 Within: | Sheet [T Match case

7] Match entire cell contents

9 | 100031001 827.1] 1 007_1 search; [yRons 7] iatch entire cell conten
10100031001 623.52) 1 008 1

= Lockin: |Formul Options <<
11100031001  683.58) 1 009_1 wokin: [Formus _[]
12100031001  1462.24) 1 010 1

- Replace Al | [ Repace | [ Fpdal | [ Endhext | [ Cose |
13100031001 750.68] 1 011_1
14100031001  1300.45 1 012 ] -
15100031001 789.59 1 013_1
16100031001  862.56) 1 014 1 Microsoft Office Excel |
17 100031001 -2500f 0 015_1 _
18 | 100031001 1098.18| 1 016_1 101 Excel has completed its search and has made 18066 replacements.
19100031001  937.55 1 017 1 il
20100031001 762.76) 1| 018_1
21100031001  665.56} 1 019 1
22 100031001  760.29 1 020_1
23 | 100031001 796 796 021 1
24100031001 654.27] 1 022_1
25100031001  749.24) 1 023 1 '
26100031001  1252.36| 1 024_1
M 4 » »| RawAZK data - suilD and number - training Display Errors 2 o | m i P
Ready Average: 7357118031 Count: 29089 Sum: 21400384.93 | [E5 (] (]| 1009 (= ] i

= a =) nbox - Outlo... | i Results 'S Skype™ - ugb... | B Participants_... ) rawindivdata... || 8 CnmsonEdtt.. | @ Preparefilest.. | DE < ¥ T WEA 12218M

ANOTHER OPTION ALTOGETHER: which works well, too, instead of using “find and replace:
Sort the whole data sheet according to the column “Error” (while the Reaction times are still in there),
from smallest to largest and replace all the negative ones with 0, and all the positive ones with 1 (only in
the “error” column, of course!)

To select the whole thing quickly: Ctrl+Shift+downArrow (selects the whole thing in one column
vertically) and then, Ctrl+Shift+rightArrow (selects the whole thing over several columns).

To sort: Data-Sort-By column B in my case. All the RT are now sorted from smallest to largest, and we
can replace everything in the column next to it (C) with 0 and 1, depending whether it is a hit or a miss.
(any negative RT means that there was an error)

In the screenshot below, you can see how all the negative RT (preserved in the next column) are
accompanied in our “error” column with a “0” and all the positive RT are accompanied with a “1”

Next we need to eliminate all the items with an RT below 300 ms.
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%~ - reaae \ro_ 2 - S N v " f e
‘,?D;\\ R —  — R e Moo e . T— [P
e e o PageLayout  Formulas Data | Review  View  Acrobat @ - = x
B Y By [&] Connedtions - & Clear Ed mm=m = T2 L AN Ty S ¥= || Fl;Data Analysis
JE‘ ,3 =E] Sr =L g ﬁru-:-\mme: & il:i‘ U? s Reapply L g‘ ;‘é‘ J‘;E E? ﬁL: {J ﬁJ =2 ?:Sulver ’
From From  From From Other | Existing  Refresh — Z| Sort | Filter o Tetto  Remove Data  Consolidate Whatlt || Group Ungroup Subtotal
Access Web Text Sources~ | Connections | All Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Outline £ Analysis
Alos41 - I | 800032059 ¥
A B C D E F G H 1 J K L M N o] P Q R S
10836 800032096 -384.11 0 002 1
10837 800032031 -371.21 0 017 1
10838 851112030 -352.38 0 059_1
10835 800032062  -349.26 0 052 1
10840 856221127  -334.11 0 046 1
10841|800032059  -119.79 o 097 1
10842100032044  -118.26 0 096_1
10843 100032110 -90.04 o 011 1
10844 800031116 -29.9 0 074 1
10845)100031032 -28.25 o 029 1
10846 100032014 6.87 1 006_1
10847) 100031101 12.95 1 024 1
10848 853211064 15.46 1 091_1
10849 | 800032093 28.57 1 094 1
10850 155112048 28.59 1 082_1
10851 | 100032016 28.81 1 056
10852 800032128 70.11 1 012 ]
10853 857212073  114.99 1 029 1
10854 854222182 117.72 1 084 1
10855856121167  132.05 1 029 1
10856/ 800031054 139.93 1 082 1
10857|100031070  151.48 1 004 1
10858 800032092 270.47 1 004 1
10859 800031087 341.26 1 061_1
10260 800032124 356.65 1 046 1
10861 100032041 470.96 1 020 1
W 4 » M| RawAZK data - sujlD and number training Display Errors 2 E! I |
Ready Average: 168079467  Count 72 Sum: 9076201210 | [0 (1) 100% (=) (] (+) .:’

— — — = B — =
e E = > "Oieor oo Reue % Sopen - ugb. | H] Participanteo | B rawindivdate... || # Cnmsontart.. | G Preparetiesf | DE < M ¥ Ty WEW 1239 oM

Examine the RT that are around 0. Any RT that is below 300 ms should be trimmed or the item discarded,
because that is too fast a RT for being a true response. It is more likely a delayed response to a previous
item (which is then most likely an error).

These highlighted items in the above screenshot would need to be deleted. | would not delete them
all, 1 would copy and paste them in a new tab. But I cut them from the main result tab.

The same goes for high RTs if you don’t have a cut-off. In our case, we do, so that no RT can be really
longer than 2500 ms. (and we don’t have anything really longer than that)

Get the number of such items with a fast RT (in my case, 18 out of xxxx) and indicate the percentage of
these items. In my case, it is 18 out of 29088 datapoints = 0.000619%, not bad, really.

Similarly, a few other trimmings may be performed. (compare with the DMDX spc files where you select
options. You should do the same options in your excel file)

EXKURS: THE DISPLAY ERRORS

In particular, the “display errors” items (that you saved extra) may be consulted to see whether these
items RTs need to be either trimmed (set to the mean) or deleted. In our case, | prep that data also using
“sort” functions. First, | add a column with running numbers from 1 through the last line of this data, so
that I will later be able to restore the original order it came in.

Then, | sort the dataset according to the column “K” which is the item number.

The layout before and after is presented below:
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o Catle 0 - -l B g e tm - Hm T (W] b \r A
Paite 1 o, e e =S o' » % Cosgmanl Feemst Inuea Diets Farmat 1ea s fnd
T tomat puntey | [ BoL D[S ey | R S s B o L || Conavens
rphsus 0 Fent : Aigrnbik z ) z
I o118 - @ 3
A 8 c o 3 F G H N . L
1 100 Dusplay  erior at miec  JWTLIANT tick 17228 0671 100031089,
1o U0 moved inte  vides  memery 1 tiek tata 0ary
111 111 {previous frame’s  duration will have  been  Fonger) oAz 1
112 112 Display  error muec  16MZStick 38384 in 001 86187,
113 MWimeved infe  video  memery Itiks  late 0.1 F s i | 3 L ¥ N o P o B s
118 114 {previous frames  duration will have  been  Fonger) 0301 46020857 1k 0T 31 oo,
115 115 Display  error muec  TEITATAZ tick 4707 in 911 S0003M0M, 438157.55 tick 823 0 0IZY BOOOIA0AT,
116 16 meved  infe  vides  memery Itiks  late o1 Bampa 38 ex a0t 1 oss  moonsoar,
117 117 (previous frame’s  duration will have been onger] LY PRI e Ve AL s
118 18 Display  erree a mec  91MITEY tick 54761 in 11 ssazioe, o L84 fakc AL e
13 19 meved  Inte video  memer 1 tick ate o1 A2k Ll L B
= i = ¥ = =~ == BEI0GE 58 tick 08T 0 461 BOOO3ILIY
120 130 [previous frame’s  dweation wi have  been  Fonger) w1 TR i 5
13 11 Display  error st meec  BEMLI0Nck 52988 in 0881 £81113040, SR 30 vk Srhad
12 122 meved  inte wides  memery Brcks  Late a3 510427.89 tick 761
123 133 (previous frame’s  dweation will have  been  Fonger) T T bk sy e
1 134 Duplay  erer at meec  L0SIRARS tick 64388 in o8a1  1sanmm, 1639333 B tick |
125 1 meved  inte wides  memery Iricks e a3 M7 Lok 3443 0
126 126 (previous frame’s  duration will have been Fonger| LR AN -
31E528.860 tick B1M 1
127 107 Display  error meec 11961307 tick 68157 in 0971 800032089, 2 1
179 129 (previous frame’s  duration will have  been  longer) W - F
110
m ¥
12 | Concateniby UnlcadaZ e 3011 AM 9/6/2001 1013 a Bewved  bato
123 | Contatin by Unleadaz 1at A5G AM 9/6/2011 102 3 o 5 {previous frame's  dur
14 . atss
[ 4h k] e dets | eyl and nurber | taneg | Displey Do 6 ) —

L - R (RS
This is why the first column is important... because the actual duration of presented
on a separate line. So if you sort it without having a way to restore the original display, you may lose that
information of which item had a delay of how many ticks. Anyway, it may be important later, even if it’s
not right now.

What we see is : We had 43 items late for a total of 29088 (0.001%), again, pretty good! So even if we

actually delete these items, it is not too big a deal. For now, | leave them in.

Now, the longer part will start. But it will be greatly helped if you have stored somewhere what the
coding for the item number is. E.g. if your first digit is

Fromeries === - p— o = —= =
(21 Propertie

“vowel” vs. “consonant”, and you gave it a code of 1 ot K0S T e | o, (URENS varmapn -
Connections Sort & Filter Data Tools

vs. 3, then, if you sort the item number from smallest %
to largest, you should be able to quickly add the Bl - | r [ c [ ! L i Lo
condition for each of the lines.
Another option is to first “spread out” your item o ——— —
numbers onto separate columns, and use the “search B P SB—

and replace” afterwards. First, make a copy of the & T et e S e G T St

343 Original data type

whole “item” column and click “text to columns” 243 Chocme the i type thtbestdescrbes your dota:

343 ) Delimited - Characters such as commas or tabs separate each field.

(U nder Data) 33| ST e e s e e e TRl
343
343

Choose “FIXED WIDTH” so you can select the =

3 Preview of selected data:

boundaries yourself. N T
=]

343
343
343 [8za3
343
343
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TR e
Home  Insert  Pagelayout  Formulas | Data | Review  View  Acrobat @ - = x
[l connedions | Y & Clear E‘E E > E: ¢:I érl ;. #Z || £y Data Analysis
s o 1 % properties &l ‘L & Reapply =2 t};- ? uL ‘AL d =z || 2y Solver
From From From From Other | Eviting | Refresh — - LSOt PR g | OO Remow  Dats  Comsoldste Wnstlf | Group Unsroup Sustotsl
Access Web Text Sources~ | Connections || All Columns Duplicates Validation Analysis
Get External Data Connedtions Sort & Filter Data Tools Outline = Analysis

FL - fe| ttem ¥

A B c D E F G H 1 J K L M N o P a R s |m
1 |ltem RT Error SujiD Item Condition word nonword
2 |100031001  -2500 0 0151  |100031001
3 | 100031001 -2394.65 0 0571 |100031001
4 | 100031001 1694.19 0 6 1 |100031001 Canvert Text to Columns Wizard - Step 2 of 3 18 [
B 100031001 -1253.29 0 087 1 This screen lets you set field widths (column breaks). I
6 | 100031001 -1246.19 0 034 1 [100031001] Lines with arrows signify a column break.
8| 100031001 -784.44 0 0611 100031001 To CREATE a break line, cick at the desired pasition.
2 100031001  623.52 1 008 1 [100031001 To DELETE a breakline, double dick an the line.
9 100031001  629.83 1 0841 |100031001] To MOVE a break line, click and dragit.
10100031001  632.96 1 0371 |100031001
11100031001  639.44 1 060_1 |100031001
12100031001  641.04 1 0471 |100031001
13100031001  643.36 1 0551  |100031001) e
14100031001  654.27 1 0221 |100031001
15100031001  660.95 1 0271 |100031001 e 2 kL b L &
16100031001  665.56 1 0191 |100031001] felekd -
17|100031001  666.1 1 0331 |100031001 thon (i
18100031001  672.09 1 0sa_1  |100031001] oy
19100031001  672.23 1 0811 |100031001 ftpoy] S
20100031001  674.35 1 0591 |100031001] il !
21100031001  677.07 1 069 1 |100031001
22100031001  677.97 1 0391 |100031001 [ concel | [ < |
23100031001  682.58 1 009 1 |100031001
24100031001  687.91 1 0861 |100031001
25100031001  688.41 1 099 1  |100031001
26100031001  691.89 1 005_1  |100031001]
W 4 » M| RawAZK data - sujlD and number training Display Errors 2 _ I |
Ready Average: 477953813 Count: 29089 Sum: 1390272051508 | ({5 1) = v] 3

- =
B Results S Skype™-ugb.. | Hj Paicipants_.. || B rawindivdata... | 8 CrimsonEdrt.. | U Preparefilesf.. = DE < W% v W0 1252pM

Click in between each item code (one or several digits, depending on your coding). In my case, each digit
is a different condition, except for the last 3, which represent the actual running item number (from 001
through 260 for example).

Then, all these will be spread out on separate columns, ready to be “replaced” by condition names !!

For the last 3 digits, Excel will (of course ® ) get rid of the preceding 000...

A Bz ———— it Wi Ee R —
= e mw Page layout  Formulas Data Review  View  Acrobat @ -7 x
=0 L, L, L, —n [ Connections | 4| TS ? ¥ Clear E’E @ * E: ¢rl QAFI [. #= | L Data Analysis
= *3 —J L —4 @ 5 Properties B G Reapply =2 H;- ? ML ‘{ d = ?:50'“’
From  From  from From Other _ Exsting Refresh o Z| Sort | Filter o Teto  Remove  Dais  Consolidste Whalif || Group Ungroup Sublotal
Access Web  Text Sources~ | Connections | All Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Outline o Analysis
N7 -0 £| ¥
A B & D E F G H [} 1 K L M N o P a R 5
1 [item RT Error SujiD condition 1condition condition condition condition condition itemnb
2 1100031001 -2500 o 015_1 1 0 o o 3 1 1
3 100031001 -2394.65 o 057_1 1 0 0 0 3 1 1
4 100031001 -1694.19 o 046_1 1 0 o 0 3 1 1
5 1100031001 -1253.29 0 087_1 1 0 0 o 3 1 1
6 100031001 -1246.19 o 034_1 1 0 o o 3 1 1
7 1100031001 -784.44 o 061 1 1 0 0 0 3 1 1 I .I
8 | 100031001 623.52 1 008_1 1 0 o 0 3 1 1
9 | 100031001 629.83 1 084_1 1 0 0 o 3 1 1
10 | 100031001 632.96 1 0371 1 0 o o 3 1 1
11100031001 639.44 1 060_1 1 0 0 0 3 1 1
12 | 100031001 641.04 1 047_1 1 0 o 0 3 1 1
13 | 100031001 643.36 1 055_1 1 0 0 o 3 1 1
14 | 100031001 654.27 1 0221 1 0 o o 3 1 1
15 | 100031001 660.95 1 027 1 1 0 0 0 3 1 1
16 | 100031001 665.56 1 019_1 1 0 o 0 3 1 1
17 | 100031001 666.1 1 038_1 1 0 0 o 3 1 1
18 | 100031001 672.09 1 054_1 1 0 o o 3 1 1
19 | 100031001 672.23 1 081 1 1 0 0 0 3 1 1
20 | 100031001 674.35 1 059_1 1 0 o 0 3 1 1
21 | 100031001 677.07 1 069_1 1 0 0 o 3 1 1
22 /100031001 677.97 1 039_1 1 0 o o 3 1 1
23 100031001 683.58 1 009 1 1 0 0 0 3 1 1
24 100031001 687.91 1 086_1 1 0 o 0 3 1 1
25 | 100031001 688.41 1 099_1 1 0 0 o 3 1 1
26 | 100031001 691.89 1 005_1 1 0 0 0 3 1 1
H 4 b | RawAZK data  suilD and nurmber - training .~ Display Errors < ¥J o I i
Ready = = 0 +
|| - —

C. . .. T | | ST P
%6 Skype™ ugb.. | B Participants.. | ‘D rawindivdata.. | 8@ CrimsonEdit.. | O Preparcfiesf.. = DE < @¥ T WY 1257PM
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Now, if your first digit is “word” vs. “no

nword”, replace it accordingly. IN my case, “1” = word, and “8”

= nonword. Easy. Find and Replace is opened with Ctrl+H or by going to Home — Find and select (far
right), and then selecting “replace”.

e
1§, Skype™ - ugh.

S TP —
'l Participants_.

- - — e I
Home Insert Page Layout Formulas Data Review View Acrobat @ - o x
Ly L, L, Ly = (D) Connedtions |, | BT i Clear = = > %‘ S “arl EE #= | [ Data Analysis
S —a SERST =L @ f?ml:eme: 2 Y G Reapply E @ H;- ? IﬂL ﬁL j = ?: Solver
From From From From Other | _Existing | Refresh  © R Sert | fer e Jotto Remee o Dats  Consolidste Whatlf | Group Unoroup Subtota
Access Web  Text  Sources~ | Connections | All Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Outline [ Analysis
F14635 - fx | word ¥
A B c D E F G H 1 J K L M N o P Q R E-
14635 158222194  1448.61 1 0771 |word 5 8 2 2 2 194
14636 158222194 1492.25 1 085_1  |word 5| Find and Replace @E‘
14637 158222194  1596.71 1 0871  |word 5
14638 158222194 1620.95 1 0781  |word 5 Replace
14639 158222194 1634.71 1 0941 |word 5 Frdwhat: |1 =
14640 158222194 1644.52 1 0901  |word 5
= Replace with: | ward [=]
14641 158222194  1700.15 1 0621  |word 5
14642 158222194  1740.88 1 0731 |word 5 Within: | Sheet [7] D)Match gase
14643 158222194 191115 1 046_1 jword 5 Search: By Rows E Match entre cel contents
14644 158222194 1959.22 1 0141 |word 5
14645| 158222194 1975.62 1 0121 |word 5 Lookin: Fomus [=]
;::: ;’Zi;ﬁ;i: 1?3;3: ; z:::; vord o 2 (Repeczal | [ meplce | [ Fraal | [ pndmest | [ cose |
14642 800031017 -1633.11 0 016 1 g 0
14649 800031017 -1557.23 0 087 1 3 0 0 0 3 1 17
14650 800031017 -1525.78 0 020_1 3| 0 [ [ 3 1 17
14651 800031017 -1030.43 0 061_1 3 0 0 0 3 1 17
14652 800031017  -246.94 0 008 1 g 0 0 0 3 1 17
14652 800031017  735.02 1 001" g 0 0 0 3 1 17
14654 800031017  747.22 1 027 1 3 0 0 0 3 1 17
14655 800031017  748.26 1 018 1 3| 0 [ [ 3 1 17
14656 800031017  896.06 1 038_1 3 0 0 0 3 1 17
14657 800031017  960.98 1 072_1 g 0 0 0 3 1 17
14658 800031017  964.36 1 039 1 g 0 0 0 3 1 17
14659 800031017  986.07 1 065_1 3 0 0 0 3 1 17
14660 800031017 ~ 99L.23 1 040 1 3 0 0 0 3 1 17
W 4 » M| RawA7ZK data -~ sujID and number -~ training Display Errors %1 [ m I
Ready Average:8  Count: 29089 Sum: 115544 ‘ &80 1| -—U o+

®’ Crimson Edi.

B rawindivdata....

" rawindivdataist - Microsoft Excel
Home Insert Page Layout Formulas Data Review View Acrobat @ - o x
Ly L, L, Ly = (D) Connedtions |, | BT i Clear = = > %‘ :érl “arl EE #= | [ Data Analysis
S —a SERST @ f?ml:eme: 2 2 Y G Reapply E @ H;- ? IﬂL ﬁL j = ?: Solver
From From From From Other | _Existing | Refresh  © R Sert | fer e Jotto Remee o Dats  Consolidste Whatlf | Group Unoroup Subtota
Access Web  Test  Sources~ | Connections || All Columns Duplicates Validation Analysis
Get External Data Connections Sort & Filter Data Tools Outline [ Analysis
- Q 5 ‘ word ¥
A B c D E F G H 1 J K L M N o P Q R E-
14635 158222194  1448.61 1 0771 |word 5 8 2 2 2 194
14636 158222194 1492.25 1 085_1  |word 5| Find and Replace (2] = J
14637 158222194  1596.71 1 0871  |word 5
14638 158222194 1620.95 1 0781  |word 5 Replace
14639 158222194 1634.71 1 0941 |word 5 Frdwhat: |8 =
14640 158222194 1644.52 1 0901  |word 5
= Replace with: |NW [=]
14641 158222194  1700.15 1 0621  |word 5
14642 158222194  1740.88 1 0731 |word 5 viithin: | sheet [ Match case
14643 158222194 191115 1 046_1 jword 5 Search: By Rows E Match entre cel cntents
14644 158222194 1959.22 1 0141 |word 5
14645| 158222194 1975.62 1 0121 |word 5 Lookin: Fomus [=]
14646 158222194 1995.24 1 0291  |word 5
et 00031017 17273 o s ww o [Replceall | [ geplace | [ Andal | [ Endrext | [ dse
14642 800031017 -1633.11 0 0161 |Nw 0 - - - - -
14649 800031017 -1557.23 0 0871  |Nw Microsoft Office Excel
14650 800031017 -1525.78 0 0201 |Nw
JAGST 500031017 -1030.43 0 06L1  INW Excel has completed its search and has made 14443 replacements.
14652 800031017  -246.94 0 o081 [Nw -
14653 800031017 735.02 1 "001" NW
14654 800031017  747.22 1 0271 |Nw
14655 800031017  748.26 1 0181 |Nw 0 0 0 3 " 17
14656 800031017  896.06 1 0381  [Nw 0 0 0 3 1 17
14657 800031017  960.98 1 0721 |nw 0 0 0 3 1 17
14658 800031017  964.36 1 0391 [nw 0 0 0 3 1 17
14659 800031017  986.07 1 0651  [Nw 0 0 0 3 1 17
14660 800031017 ~ 99L.23 1 0401 |Nw 0 0 0 3 1 17
W 4 » M| RawA7ZK data -~ sujID and number -~ training Display Errors %1 [ m I
Ready Average:8  Count: 29089 Sum: 115544 ‘ &80 1|

S TP —
'} Participants._..

e
%5, Skype™ - ugh..

Etcetera.

One thing you could do now also before moving on is create a column called “Group”, if you
have several groups in your datafile. If your subject ID does not code the group, you’ll have to

do that manually. But if it does (like i

n my case, “_1”is Group 1, for instance), you can use the
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same technique as above for separating data from one column onto several, and so create a
column “Group” next to the subject column. I copy the entire column “subject ID” at the end of
all the columns I have, and separate the subject nb (001) from the group number (1) using the
“Delimited” function of “text to columns”. I use the “_" as delimiter, and that’s it! The subject
number (001) is in one column, and the group (1) in the other. Then I can just delete the repeated
subject number column, and type “group” in the first line of the new column. If your subject ID
does *not* encode group, | recommend doing it manually at this point. You’ll have to order the
file by column “subjectID” and then manually, add a code for the group (such as “ADV” “BEG”
and “NS”, or “1”, “2”, “3”, etc....). That’s longer, and make sure you don’t mix up participants
in the different groups.

When all is done, you are absolutely ready to bring this into SPSS and get your ANOVASs done!
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